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QUESTION 1

The AC performs a load balancing process based on the information. 

A. The AP periodically sends information about the STA associated with it to the AC. 

B. STA periodically reports the currently associated AP ID. 

C. AC periodically queries the number of STAs associated with an AP. 

D. STA periodically searches for the AP information and reports the AP ID through the associated AP. 

Correct Answer: B 

 

QUESTION 2

For lobe width, the following description is correct (Select 3 Answers). 

A. In the main lobe range, the power density decreases by half (3dB) relative to the maximum radiation direction. 

B. The narrower the lobes, the better the directionality, the farther the radiation distance, the stronger the anti-
interference ability 

C. The pattern usually has two or more petals 

D. The terminal can receive the signal only within the half power angle coverage. 

Correct Answer: ABC 

 

QUESTION 3

The gain of the antenna can be explained by . 

A. The ability of the antenna to amplify high-frequency electrical signals 

B. The ability of the antenna to collect or transmit electromagnetic waves in a certain direction 

C. Amplification ability of electromagnetic waves 

D. The ability of the antenna to collect or emit electromagnetic waves in all directions 

Correct Answer: B 

 

QUESTION 4

What are the prerequisites for users to implement Layer 3 roaming (Select 3 Answers)? 

A. The two APs of the user roaming switch must have the same SSID. 
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B. Two APs for user roaming switch must have the same VLAN 

C. User roaming requires two AP signals to be covered with overlapping areas 

D. The SSID released by the two APs of the user roaming switch must have the same authentication method. 

Correct Answer: ACD 

 

QUESTION 5

In the 802.11 frame, what is the correct correspondence between the Type and the frame format in the Frame Control
bit? 

A. Type is 01, indicating that the data frame 

B. Type is 10, indicating the control frame. When 

C. Type is 00, it means reserved. When 

D. Type is 00, it means management frame. 

Correct Answer: D 
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